

Fiche d'entraînement sur la double distributivité

$A = (2x + 6)(7x - 5)$

A =

A =

$B = (4x - 9)(-4x + 5)$

B =

B =

$C = (5x + 3)^2$

C =

C =

$D = (-3x - 4)^2$

D =

D =

$E = -5(3x - 2)^2$

E =

E =

$F = (2x - 3)(4x + 5) - (4x + 7)(2x - 8)$

F =

F =

$G = (5x - 3)^2 - (5x + 2)(4x - 7)$

G =

G =

$H = \left(\frac{1}{3}x - 3\right)\left(5x + \frac{2}{3}\right)$ (Pour la 2nd générale et techno)

H =

H =

Fiche d'entraînement sur la double distributivité

$A = (2x + 6)(7x - 5)$

A =

A =

$B = (4x - 9)(-4x + 5)$

B =

B =

$C = (5x + 3)^2$

C =

C =

$D = (-3x - 4)^2$

D =

D =

$E = -5(3x - 2)^2$

E =

E =

$F = (2x - 3)(4x + 5) - (4x + 7)(2x - 8)$

F =

F =

$G = (5x - 3)^2 - (5x + 2)(4x - 7)$

G =

G =

$H = \left(\frac{1}{3}x - 3\right)\left(5x + \frac{2}{3}\right)$ (Pour la 2nd générale et techno)

H =

H =

Fiche d'entraînement sur la double distributivité

$A = (2x + 6)(7x - 5)$

A =

A =

$B = (4x - 9)(-4x + 5)$

B =

B =

$C = (5x + 3)^2$

C =

C =

$D = (-3x - 4)^2$

D =

D =

$E = -5(3x - 2)^2$

E =

E =

$F = (2x - 3)(4x + 5) - (4x + 7)(2x - 8)$

F =

F =

$G = (5x - 3)^2 - (5x + 2)(4x - 7)$

G =

G =

$H = \left(\frac{1}{3}x - 3\right)\left(5x + \frac{2}{3}\right)$ (Pour la 2nd générale et techno)

H =

H =

